Ex/Phil/PG/3.4.7/70/2018
MASTER OF ARTS EXAMINATION, 2018

(2nd Year, 3rd Semester)
PHILOSOPHY

(Pracina Nyaya-I)
Full Marks : 30 Time : Two Hours
The figures in the margin indicate full marks.
Use a separate Answer-script for each Group.
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1. (a) Briefly state the charge of traikalyasiddhi that the
Sunyavadin has adduced against the pramanavadin.

(b) How does Gautama show that the same charge can also
be leveled against the sunyavadin ? 5+5=10
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2. (a) How does Vatsyayana make it clear that there can be
~ reconciliation of the designations “ pramana” and
“prameya” to one and the same thing ?

(b) Do you think that the unreality of epistemic instrument
of designation ? Answer in the light of the following
aphorism :

“prameya ca tula pramanyavat”. 5+5=10
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Answer within 200 words.
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3. How does Vatsyayana maintain the relation of priority,
posteriority and simultaneity between pramana and
prameya ? Explain with illustration. 5
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4. Tatpramanye va na sarvapramanavipratisedhah . Bring
~ out significance of this aphorism. 5
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5. Do you think that the effort for establishing the existence of
God is fruitless, because it is already established ? In this

context, explain the first vipratipatti vakya concerning
God. 3+7=10
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6. What problem will arise if we accept that jadrtata is the
mark for distinguishing one awareness from another, in the
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context of continuous perception ? How does Udayana
establish that smrti is not prama , though it is yathartha.
4+6=10
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7. How does Udayana reject the position that the effects are
produced accidentally ? 5
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8. How do the opponents establish that the awareness of God
is not prama ? S
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